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Bonus Exercises — Standard Normal Distribution
201-934-DW Business Statistics
Friday September.25" 2009

1 - Given the standard normal distribution find the following probabilities:

(@ Pz>- 01)=C.5+0.0398=0.5398

- P)P(z <-139)=_0.5— 0.L4I137% 0.0823
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(d)P-0.15<z<210)=_0 0896 + o.u8zlz (O, 5413

(@) P(0.71<2z<093)=_0.58238 — 0. 26l O.067 %

) Pz>078)=_0.5— 0, wRki3= O, 2134

@ P(0<z<127)=_ O, B9800

2 - What z values bound the middlé 48% of area under the standard normal
curve?
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- 3 -What is the z-score associatéd with the 42" perCéntile of a normal
distribution?
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5 — Find the value of x if P(z > x) = 0.0069 in the standard normal distribution.
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Bonus Exercises.— Standard Normal Distribution
201-934-DW Business Statistics
Friday September 25" 2009

1 - Given the standard normal dlstnbutlon find the followmg probabllltles

(8) Pz>- 082)=0.5+0.2939=0 3939 /1>

(b) P(z <- 3.1)=_0.5— 0.43930=0.00|
(c) P(—2.16<z<0) = thg\/\(eo

7.6
(d) P(—-025<Z<1 23) = =Q. 099:}-+ 0.390%3 =0 ,4e9Y

(e)P(054<z<128)- 0. 39313' = 0.2054= O.1343

() P(z>1.27)=_0.5-0.3980 = 0.10% /133:3- ﬂm‘

.27
@P(0<z<192)=_ 0. Y3206
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2 - What z values bound the middle 22% of area under the standard normal
curve? :
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3 - What is the z-score associated with the 30" percentlle of a normal
distribution?

il } -
207, OF deTE MuST be heng

Look JCQY‘ voldio clegse 4o 0.20

(%= 0.52)
////{ (\

-0.52

4 — Find the value of x if P(z < x) = 0.9671 in the standard normal distribution.
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5 —Find the value of xif P(z < X) =-0.2912 in the standard normal distribution.
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Bonus Exercises — Standard Normal Distribution
201-934-DW Business Statistics
Friday September 25™ 2009

1 - Given the standard normal distributibn find the folloﬂvying probabilities:

(@) Pz>— 023)= 0.5+ 0.0910=0.53] -1,

4 /N
: =0.23 / \_
(b) P(z <— 1.31)=_0,5-0.4049 = 0.095| ey

(€) P(-=076<z<0)=_ 0. 2FGH

. ; /,/

(d) P(-0.35<z<1.6)= 0 342+ 0,4u5220.582 ~ L/ 5~ ’
—O-a

(€)P(0.75<2<1.23)=_0.390% ~ 0. 2%34= (.

() Pz>223)=__ 0.5 —0.4471=0 ;q . i;ﬁnr_vg
() P(0<z<2.16)= gfs;.,f.--sm |

2 - What z values bound the middle 66% of aréa under the standard normal

curve?
AT
o A
-f /’j /'f‘ }/’J 5\\
E,!‘[ E{'ﬁ ' {,ﬁ‘ ) s .
.;7"1&/ F:\F\CL 0.33 Areaov \n.J 'Jf a 5 =
W

Z=0.95




* 3-What is the z-score assomated with the 80" percentile of a normal
distribution?
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4 — Find the value of x if P(Z <x)=0.3669 in the standard normal distribution.
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Bonus Exercises — Standard Normal Distribution
201-934-DW Business Statistics
Friday September 25" 2009

1 - Given the standard normal distribution find the following probabilities:

(@) Pz>—- 0.44)=_ 0.5+ 0.1300 % 0. 67
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(b) P(z <- 211) = O 5= M820= 0.0 |4 4 WO—
: : - 2.1

(€) P(=176<z<0)=_n.4e0%

(@A) P-035<z<1)= 0 1268 + O.564F = O, 5O/

| | N Y “ w§ N
() P(025<2<163)= 0.4t U — 0,098 = Q.3 94

) Pz>22)=_ . 8= 0. WE8&6l= 00153

@ P(0<z<286)= ¢4, 49T 9

2 - What z values bound the middle 40% of area under the standard normal

curve?
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3 - What is the z-score associated with the 90" percentile of a normal
distribution?
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